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QUESTION NO: 1

What are three requirements of the Vblock System test plan? (Choose three.)
A. All tests identified in the test plan must be executed.

B. Observed results must be documented by a VCE certified resource.

C. Tests are confidential and must not be performed in view of the customer.
D. Once tests are completed, the customer must sign the test plan document.

E. A completed test plan must be submitted to the VCE project manager.

ANSWER: BD E

QUESTION NO: 2

-- Exhibit --

-- Exhibit --

Click the Exhibit button.

Vblock Systems have multiple power connector capabilities.
Which power receptacle is shown in the exhibit?

A. 60A 250V, single phase (IEC 60309)

B. 60A 120V, 3 phase (IEC 60309)

C. 60A 250V, 3 phase (IEC 60309)
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D. 30A 120V, 3 phase (C8303 L6-30P)

ANSWER: A

QUESTION NO: 3

A Cisco Unified Computing System (UCS) blade encounters a hardware failure that requires the service profile to be
associated to another blade.

Once the service profile is associated to another blade, how does the host boot the existing operating system?
A. The service profile maintains pointers to the local hard drives on the failed blade allowing true stateless migration.

B. The service profile maintains the boot-policy to ensure the replacement blade boots to the existing LUN on the storage
array.

C. The service profile migrates the hard drive content from the failed blade to the new blade during service profile re-
assignment.

D. The service profile migration requires that the drives from the failed blade are physically migrated to the replacement
blade to boot the existing operating system.

ANSWER: B

QUESTION NO: 4

In Cisco UCS, what is a valid format of a vHBA World Wide Port Name?
A. 20:00:00:25:B5:01:0B:01

B. 2000:0025:B501:0B01

C. 20-00-00-25-B5-01-0B-01

D. 20.00.00.25.B5.01.0B.01

ANSWER: A

QUESTION NO: 5

Which EMC software is required to upgrade code on a Vblock System 200 storage array?
A. Unisphere Service Manager

B. Unisphere Server Utility

C. VNX Installation Assistant

D. Unisphere Client
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ANSWER: A

QUESTION NO: 6

Which two storage connectivity types are associated with block level access? (Choose two.)
A.NFS

B. iSCSI

C.CIFS

D. FCP

ANSWER: BD

QUESTION NO: 7

You are installing a Vblock System 720 and notice that no Cisco UCS B230 blades are logging into the Cisco MDS 9148
switches.

Which feature must be enabled on the Cisco MDS 9148 to resolve the issue?
A. NPIV

B. TACACS+

C. RADIUS

D. NPV

ANSWER: A

QUESTION NO: 8

Which three configuration parameters are available to create a virtual machine when performing a typical installation?
(Choose three.)

A. data store location

B. virtual disk size

C. virtual machine hardware version
D. primary network connection

E. number of vCPUs

ANSWER: ABD
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QUESTION NO: 9

Your manager asks you to configure an external Syslog on VMware ESXi hosts.
In which two ways would the Syslog be configured? (Choose two.)

A. using the vSphere client

B. using the esxcli system syslog command

C. using VMware Update Manager

D. using the VMware SQL database

ANSWER: AB

QUESTION NO: 10

Which three VLANSs are required during the implementation of the Cisco Nexus 1000V in Layer 2 mode? (Choose three.)
A. native VLAN

B. control VLAN

C. management VLAN

D. system VLAN

E. packet VLAN

ANSWER: BCE
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